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Define com puterprogramming?

How can we declare'a variable? Cazk ) /'”:._,/J: 8 j’f‘T Gi)
Define Text Lditor? A ’-’~ 3 / *f,n.../ Giii)
What is stutement Terminator? ' Yo f‘:ﬁ-')’f Gv)
Deline Assignment Operator? L _1’ /TJ//‘:/; [ )
Solve the following expression? ,’/:J"i/gé'/’ilv’i&u (vi)

4+2x (11— 5)

4+2x (11 =~ 5)
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intx ='19: : nx =19; :
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printf ("Even”); pn’nt./' ("Even™y;
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void sum (int a, Int b); void sum (ing g, lntb’)
return a+b; i-{etum a+b;
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{
printf ("PAKISTAN");
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Answer bneﬂy any Fout parts from the- followmgs
; Deﬁne control statement

V»Deﬁne Sequennal Control Statement

' ‘fDeﬂne data structure
: What is the output of code
Void main( )

{ :
intd, ar J={2,34,5,6);
: fox(L:O,z <5; i,+"+)\s:-‘ .
printf (“#d\n”, are] 1]) 2
} | AN
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cfor(mtz-o z<3 o ) :
prmtf ¢ Pak;stan \ n")
What you lcnow about body of a function.
What is te dlfferenee betwejen: arg;lme'nt and pziirameter.
What is the-user deﬁned’ function. '
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Void main() ‘ ‘
{

int{, an ]={2,34,5,6};
for (£ =0; i <5:0 ++)
prihtf (“zd\n”, art[i]);
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